Phone: (919) 575-6426
Fax: (919) 575-4708
INSTRUMENT COMPANY ~ Www.eNewton.com

PARALLEL AUXILIARY FRAMING BAR “T” JUNCTION WITH CORNER CLAMPS Modified:07/17/2014
| Ordering Table
Part Number
00102400xx
Stock List
% -
’ Item | QTY | Description
’ II 1 4 Splice Clamp
’ = 2 2 3/8"-16 X 2" Bolt
l_.l 108 0 3 2 3/8"-16 Nut
Notes:
¢ Finish is zinc plated and gold chromate,
| finish code 10.

¢ Not included; refer to 001021.

PARALLEL AUXILIARY FRAMING CHANNEL OR BAR “T” JUNCTION WITH SPLICE BAR

Ordering Table
m W —_ Part Number | Aux

‘ ‘ ‘ 00102401xx ‘ Channel
00102403xx Bar
L Stock List
| i ﬁ ]é | l l ] [ i ] w Item |QTY |Description

= = 1 2 Splice Bar
EY = [ ] I 2 6 Clip
’ = 3 3 5/8-11 X 3-3/4"HHCS
4 -11 Hex N
‘ ‘ I ] 3 5/8 ex Nut
é | Notes:

| . [ - [ . ¢ Finish is zinc plated and gold chromate,
finish code 10.

¢ Not included; refer to 001022 or 001021.

PARALLEL AUXILIARY FRAMING CHANNEL “X” JUNCTION WITH SPLICE BAR

Ordering Table

Part Number

|
-

00102402xx
-
NS NS - ~ ~ Stock List
U U Item |QTY |Description
1 2 Splice Bar
4/@ 2 10 Clip

3 5 5/8-11 X 3-3/4"HHCS
4

=1
b

L EE

¢ Not included; refer to 001022.

5 5/8-11 Hex Nut
Notes:
* Finish is zinc plated and gold chromate,
01 \_A_,Q\@ finish code 10.

The information contained in this drawing is the sole property of Newton Instrument Company Inc (NIC). Any reproduction in part or whole with out the written permission of NIC is prohibited



